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IR4: (B #RESESAEERISE(ZE0D2)

1-1 HELER [#E#EHR])
BEE WE=E— B %
I$Eﬁ T E E le ﬂ E“ ﬁ *& L | et | SR = = E%&'
(LEVEL1) | (LEVEL2) | (LEVEL3) (LEVELA4) (LEVELS5) AL Sf | REHHE REHE| ) g | W R
HEigs(
T8
SR T |JEEIT =] F—Fohuk m3 | 100 | 3483.00 3500
KIEY BERHES m3 | 100 | 1885.21 1900
TR EE R BERHB S m3 | 10 | 1885.21 1890
T EE R BIRHBR S m3 | 10 | 1885.21 1890
T REEK BRL, EZLasn m3 | 10 | 299417 2990
TR E HRLS m3 | 10 | 210359 2100
FET
BtT Bt 4m=W m3 | 100 | 3161.00 3200
FEEBRI |EEERE Pt.1:20 m2 | 10 237.46 240
EEER Bt 1:20 m2 | 10 140.16 140
BERRENET [+ EhBRNE B [ |1 1.00 1
£ R R100kg/m3
REME BRL, EZiLasn m3 | 10 | 2994.17 2990
BLXMBET |ELEHRLS 11.0kmELF m3 | 10 890.58 890
EBERLSY B IEHa s
SR T SRIT BRIRHBR S m3 | 10 | 4766.38 4770
BEiH= 10 29.49 30
HEHRERT RIHBLIT [(BEL BAELIHE m3 | 10 35.39 40
IN—HERR kg | 1 1600.71 1601
4 HHERD kg | 1 398.14 398
BEL Q 1 1061.70 1062
pr T WEET EFWAT m2 | 10 377.63 380
WEEET e+ T KiEY INRIE m3 | 10 40 40
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IR4: (B #RESESAEERISE(ZE0D2)

1-1 HELER [#E#EHR])
BEE WE=E— B %
I$Eﬁ T E E le ﬂﬂ E“ ﬁ *& & | ¥y | SR s = = E?&'
(LEVEL1) | (LEVEL2) | (LEVEL3) (LEVELA4) (LEVELS5) B B | AR RERE| . | AR
HEREL INRE m3 | 10 27 30
L=19.35m
PEEET INBYE H K PERE-1 [H400~950 & 1 1.00 1
L=12.50m
INBYE K PERE-2 [H400~ 790 & 1.00 1
L=12.15m
INEYEE h g RE-3[H400~700 iR 1.00 1
L=24.40m
INBYEE s HERE-4|HA00~T720 BT 1 1.00 1
HEYIE T[S EEL T | St iR iR Co,t=50 m2 | 10 603.80 600
vy —MEEMIEL |EER m3 | 1 1.79 2
avoy—MERMEEL | 555 m3 | 1 19.20 19
NEESEET | TE-1#E H550 m | 1 113.50 114
T8-2E H510 m | 1 31.90 32
ERLET (FREHRLS a9 — R (ERR) m3 | 1 31.98 32
FHE RS a9 —hR(E ) m3 | 1 19.20 19
SR T
RERLS a9 —RER(E ) m3 | 1 47.66 48
FRIEMR A5 BT t |1 0.95 1
TeE sy EilE m | 1 0.46 1
J—X BI#5n |1 40.00 40
fRExT ITERERT | Bk = 22 X 1524 x 6096 m2 | 1 371.61 372
J—Xx Emsn ol 249.00 249
B IRERE - E 22 x 1524 X 6096 m2 | 1 2313.29 2313
HEH
AR/ (L=6~7m)
WEET EAREET B3/ T H:80 C:050 W:3.50 A | 1 1
ZHEREXH
HOwy H:40 C:0.30 W:2.00 x| 1 3 3

2




IR4: (B #RESESAEERISE(ZE0D2)

1-1 BEBREXR [FR#EHK]
BEME— %%
Cvein | devers | aevers Cevere Chvers wE | el L
ZHSEXE
THIY H:4.0 ©0.30 W:2.00 7 7
BB XA GRARM)
RECA H:4.0 C:021 W:1.20 9 9
BB GRAM)
LShY H:4.0 C021 W:1.20 8 8
ZHB BRI GRARM)
rohTT H:4.0 C021 W:1.80 15 15
ZHSBEXHEGRAM)
FoATTIEEE |H40 CO021 W:200 3 3
BB GRAM)
aF> H:40 C:021 W:1.50 8 8
ZHB BRI GRAM)
IR H:40 C:021 W:1.50 7 7
ZHSBEXHEGRARM)
/% H:4.0 C021 W:1.50 10 10
BB GRAM)
a7y H:4.0 €021 W:1.50 9 9
ZHIB BRI GRAM)
AT H4.0 ©025 W- 10 10
BB XA CGRAM)
4T/% H:4.0 C025 W:1.20 7 7
TS EIHE GRAM)
TN H:4.0 C0.15 W:1.20 12 12
ZHB BRI GRAM)
AZEa(T H:4.0 ©0.18 W:1.20 10 10
S EXHEGRARM)
V] H4.0 C021 W:1.50 14 14
ZHISEXHE GRAM)
RYINEALH AR [H40 C021 W:1.20 8 8
ZHB BRI CGRAM)
HYSLYRTHYIZ|HA40 C0.18 W:1.80 4 4
ZHSEXHEGRARM)
ANVVES H:4.0 C©0.15 W:1.20 12 12
THISEXHEGRAM)
LY /5% [H40 C0.15 W:1.00 4 4
ZHBS BRI GRAM)
HILARI) H:3.5 ©021 W:1.50 4 4
S EXHEGRAM)
hAREHT |[HILARY H:25 C:0.12 W:1.00 69 69
THISEXHE GRAM)
XY H:2.5 C0.12 W:1.00 11 11
ZHS BRI CGRAM)
(o] VA i) H:2.5 ©0.10 W:0.70 46 46
S EXHECGRAM)
B> H:25 C:- W:0.60 47 47
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IR4: (B #RESESAEERISE(ZE0D2)

1-1 HELER [#E#EHR])
BEE WE=E— B %
I$Eﬁ I E E le ﬂﬂ E“ ﬁ *& & | ¥y | SR s = = E?&'
(LEVEL1) | (LEVEL2) | (LEVEL3) (LEVEL4) (LEVELS) B B | AR RERE| . | AR
ZHBREIH GRAM
I3/% H:25 C:0.10 W:0.60 x| 7 7
ZHBREZH GRAM
EVNES H:25 C€:0.12 W:0.80 A1 41 41
ZHBRXHEGRRM)
EF/¥ H:25 G- W:0.70 A | 20 20
ZHEBREIHEGRAM
HILE/ H:25 G- W:0.70 x| 1 12 12
ZHBREZH GRAM
2923 H25 C=- W:0.60 . N 6 6
ZHBREXHEGRRM)
E/% H:25 G- W:0.60 A | 15 15
RAEIR
<as H1.0 G- W:0.25 A | 2 2
ERERT |SVvvs H:05 C:- W:0.25 B 58 58
H<RX=2 HO05 C:— W- %1 46 46
RS &MY H05 C- W0.25 %1 42 42
FavFX H:05 C- W- L 23 23
ESREYYY H0.3 C- W0.30 %] 748 748
VAU MIAE H0.3 G- W:0.20 %1 374 374
FRYFIFT—RTI—Fv— |H:0.2 C- W:12.00 I 227 227
ESRYYY H0.3 C- W0.30 %] 454 454
448/ m
W EBHER T |2 <)o H- REES3FST avTHE750| 4 | 1 2902 2902
BABET |ZRZE(HK) |“HEERXHE . 264 264
RARRZ R x| 2 2
BEVMEET [V ——IIL W2000 |1 8 8
e
KRG |[fE¥xT RIEY INRE m3 | 10 49.97 50
HBRL INRIE m3 | 10 49.97 50
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IR4: (B #RESESAEERISE(ZE0D2)

1-1 BEBRER [FR#EHK]
BEE¥E—E X
cven | devers | devers Cevere Chvers i s | Wt | M| UL | W oE
KIEERMA T | AESAAT-1 | Z1EK$&(50) = [ 1 1.00 1
AESAHFT-2 |Z1EKIE(25) = | 1 1.00 1
AESHAHI-3 |2 1E/k$e(50) =® [ 1 1.00 1
ALK
A—HZ—RyPR-1 (50 FRPEER{A thEkEZE | @ [ 1 1.00 1
ALbkie 4
A—H—RyH X-2 |40 FRPE! & | 1 1.00 1
ALK
A—H—RyH X-3 |25 FRPE @] 1 1.00 1
Ry Z
17K iE-1 50 & | 1 1.00 1
Ruo x4
1EKiE-2 30 @ | 1 1.00 1
Ruo x4
1E7K#2-3 25 @ | 1 1.00 1
Ry Z
1k ig-4 20 @ | 1 5.00 5
@175 x H250
BUKREER T  |Bkiz SIRIEKREAR YR SuSEL| & | 1 3.00 3
BERERIIFLUE
HRKEBRI |#KE-1 PE50 m | 1 22.32 22
BEERJIFLUE
HKeE-2 PE40 m | 1 32.34 32
BEERIIFLUE
#aKE-3 PE30 m | 1 8.04 8
BERERIIFLUE
HKE-4 PE25 m | 1 48.46 48
BERERIIFLUE
#hKE-5 PE20 m | 1 125.16 125
PCarH)—k
1BERAE 180 x 300 & | 1 7.00 7
1 ER 8 L70 @ | 1 6.00 6
EE L —h W=150 &)L m [ 1 236.32 236
F AM(3-1~5), (11000
FRSARGT |ITREET |(EaHE YIrR—ILi5 & 1 5.00 5
FEXT PRIEY INRE m3 | 100 1599 1600
BRL INRIE m3 | 100 1062 1100




IR4: (B #RESESAEERISE(ZE0D2)

1-1 BEBRER [FR#EHK]
BEME— %%
cven | devers | devers Cevere Chvers i s | Wt | M| UL | W oE
U240 x 240
fAET U {EIliE-1 GE(T-2-NS-#1H) m | 1 185.45 185
U240 x 240
UM aIiE-2 O FIER m | 1 34.20 34
U240 x 360
U aIiE-3 GE(T-2-NS-#18) m | 1 10.30 10
U300 x 300(1FE)
URZaliE-4 CoZ-GE(T-6-NS-#HE)| m | 1 309.43 309
U300 X 400(1FE)
URZEliE-5 CoZE-GE(T-6-NS-#1E)| m | 1 50.80 51
B300-H300
BHERAEAE() |CoZE-GE(T-2-NS-#E)| m | 1 33.33 33
B300-H400
BEHSYERE?2) [CoZE-GE(T-2-NS-#iE)| m | 1 70.05 70
B300-H300
BHHYEAES) [CoZE-GE(T-6-NS-MIE)| m | 1 14433 144
B300-H400
BERGEEEA) |CoZE-GE(T-6-NS-H#E)| m [ 1 43.80 44
B300-H500
BHSEHEG) [CoZE-GE(T-6-NS-HiE)| m | 1 27.37 27
B300-H800
BHHSYEHEG) [CoZE-GE(T-6-NS-MIE)| m | 1 6.84 7
B300-H900
BERAEEE(T) |CoZE-GE(T-6-NS-H#E)| m [ 1 13.16 13
B500~-H1000
EHSEHES) [CoZE-GE(T-6-NS-HiE)| m | 1 4550 46
B500-H1100
BHHYEEEO) [CoZE-GE(T-6-NS-ME)| m | 1 42.42 42
B500-H1200
B B A ECAE(10) |CoZE-GE(T-6-NS-H#E) | m [ 1 33.49 33
B500~-H1300
BHSEAE(1) [CoZE-GE(T-6-NS-HIE)| m | 1 22.61 23
B500-H1200
BHSYEAE2) [CoBE-GE(T-25-NS-#B)| m | 1 10.00 10
ERT BEK E-1 CSB ¢ 350 m | 1 450 5
Bk E-2 VU ¢ 75 m | 1 17.34 17
BeKE-3 VU ¢ 150 m | 1 79.09 79
HeKE-4 VU ¢ 200 m | 1 71.65 72
BeKE-5 VU ¢ 250 m | 1 105.32 105
BeKE-6 VU ¢ 300 m | 1 3.36 3
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IR4: (B #RESESAEERISE(ZE0D2)

1-1 BEBRER [FR#EHK]
BEE¥E—E X
cven | devers | devers Cevere Chvers win| | atme | mwE| G | o=
BekE-7 VU ¢ 350 m | 1 103.83 104
1500 x H400
oKL T | SR IK B 1 GE(T-2-NS-f8) |1 3.00 3
1500 x H500
FoKin-2 GE(T-2-NS-f8) |1 1.00 1
1500 x H600
&K#-3 GE(T-2-NS-#1H) |1 5.00 5
1500 x H700
FK-4 GE(T-2-NS-#8) |1 2.00 2
1500 x H800
&£Kk#t-5 GE(T-2-NS-#18) |1 3.00 3
1500 x H1000
HKi-6 GE(T-2-Ns-#8) |1 1.00 1
1500 x H1100
SoKm-7 GE(T-2-NS-#8) 2|1 2.00 2
0500 x H1400
FoKiH-8 GE(T-2-NS-f8) |1 1.00 1
[1500 x H500
HKH-9 GE(T-6-NS-#8) |1 1.00 1
1500 x H600
&Ki-10 GE(T-6-NS-#8) | 8.00 8
0500 x H700
Sk i-11 GE(T-6-NS-fi8) |1 1.00 1
[1500 x H800
SKin-12 GE(T-6-NS-#i8) |1 4.00 4
1500 x H900
&EKin-13 GE(T-6-NS-#8) |1 1.00 1
1500 X H1000
Soki-14 GE(T-6-NS-fi8) |1 3.00 3
1500 x H1200
gk#t-15 GZ(T-6-NS-#iH) (1 1.00 1
1600 x H90O
&EKin-16 GE(T-2-NS-#8) 2|1 1.00 1
600 x H1100
SoKi-17 GE(T-2-NS-f8) |1 1.00 1
1600 x H90O
&Kin-18 GZ(T-25-NS-#18) |1 2.00 2
1700 x H1300
&EKin-19 GE(T-6-NS-#18) |1 1.00 1
1700 X H1500
&Kk#t-20 GE(T-6-NS-f8) =1 2.00 2
15E $75-125. E#R 2|1 4.00 4




IR4: (B #RESESAEERISE(ZE0D2)

1-1 HELER [#E#EHR])
= -2
BEE WE=E— B %
I$Eﬁ T E E le ﬂ E“ ﬁ *& & | ¥y | SR s = = E%&'
(LEVEL1) | (LEVEL2) | (LEVEL3) (LEVEL4) (LEVELS) B B | AR RERE| . | AR
EREKRBT [{EELT RIEY INRE m3 | 10 449.41 450
HEREL INRE m3 | 10 344.81 340
EET SEIKE-1 VU ¢ 100 m |1 458 5
FEKE-2 VU ¢ 150 m | 1 183.67 184
HKE-3 VU ¢ 200 m | 1 46.50 47
G E 150 BIET % & 1 1.00 1
E- S PE N = |1 1.00 1
Bkt vh-L T | HEE B 150-200 E#R & 1 6.00 6
e m-2 150-200 90E& 7 R I 1.00 1
1EE #-3 150-200 KO~ B 1 3.00 3
Bk a5 —kt 500 X H1450 | AT 1 2.00 2
OM-A5(H=1337)
< k—IL-1 05T hR—IL & 1 1.00 1
OM-B5(H=1506)
< iR—)L-2 0BV R—IL =R 1.00 1
OM-B6(H=1621)
2 k—IL-3 05V R—IL =R 1.00 1
OM-B7(H=1736)
TohR—IL-4 05 Iv I hR—IL & 1 1.00 1
OM-B9(H=2022)
< ik—IL-5 0B ALV R—IL BT 1 1.00 1
ER%EL |FELT RIEY INRE m3 | 10 425 430
HRL MRS m3 | 10 403 400
BRASEET |/ \RR—IL-1 EXEFEA H1-9 2|1 11.00 11
NUFRFR—IL-2 Es&EA H-o(k/sL—af) | B | 1 3.00 3
53AHE H=5.3m Hz |1 1.00 1
HERE-1 L-Avh—1f EEEOH&| @ | 1 1.00 1
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IR4: (B #RESESAEERISE(ZE0D2)

1-1 HEBREXR [HR#ERRR]
HEYE K%
drveh| devers | Gevers | deverh dEves i | matmE MmO | W E
HEHE-2 L-RE# TEHREOH| m | 1 1.00 1
SERE-3 E4MEREAHES m |1 1.00 1
SlARARAERHE EESIHA m |1 1.00 1
B T-1 BEE-1 1 11.00 11
BohT-2 BEE-2 1 2.00 2
ESH4T-3 BEE-5 |2 2.00 2
B 4T-4 BTEI5-1 3 10.00 10
ESHT-5 EIEE5-2 1 10.00 10
Bk fET |BOMUEE =) 9 e m| 1 1.00 1
AL —h— 15W, 5o Ry 8l |1 4.00 4
BREWRT |[EH-1 EM-IE 3.5sq m [ 1 | 1707.13 1707
Big-2 EM-IE 8sq m | 1 69.20 69
B3 EM-CE 3.5sq-2C m | 1 | 108307 1083
Ei-4 EM-CE 5.5sq-2C m | 1 335.14 335
BIR-5 EM-CE 8sq-2C m [ 1 136.81 137
EiR-6 EM-CE 38sq-2C m | 1 143.50 144
Eg-7 EM-CET 14sq m [ 1 56.81 57
ER-8 EM-CET 22sq m | 1 69.82 70
BIE-9 EM-CET 100sq m | 1 34.60 35
E#R-10 EM-AE 1.2-2C m [ 1 244,50 245
EHRE-1 FEP30 m | 1 1342.80 1343
ERE-2 FEP40 m | 1 87.85 88
EHRE-3 FEP50 m [ 1 86.82 87




IR4: (B #RESESAEERISE(ZE0D2)

1-1 HELER [#E#EHR])
= -2
BEE WE=E— B %
I$Eﬁ I E E le ﬂﬂ E“ ﬁ *& & | ¥y | SR s = = E?&'
(LEVEL1) | (LEVEL2) | (LEVEL3) (LEVELA4) (LEVELS5) AL Sf | REHHE REHE| ) g | W R
EBRE-4 FEP65 m | 1 122.86 123
E/RE-S FEP100 m | 1 34.60 35
18—k W=150, 2{Z#r m 1 1283.26 1283
Eh TE1 ED(ELB) BT 1 1.00 1
EthTE-2 ED BT 1 1.00 1
EBESEaT|[EELT RIEY MR m3 | 10 278 280
ERL INRIE m3 | 10 183 180
R IEt=40cm
TAITIVNEBEE T |7 RT7 LM (5)-2[t530(30+100+400) m2 | 1 125.17 125
R Et=45¢m
TR 77 LM EEE(S)-3|t580(30+100+450) m2 | 1 20.41 20
W REL
TRT7ILEEE(E)-1]t210(50+160) m2 | 10 | 6030.01 6030
W REt=45cm
TR77 IV EE(E)-2|t660(50+160+450) m2 | 10 | 1335.77 1340
BELS—HE (BERINULD m2 | 1 63.00 63
W REL
W-rREET | —MEE  [t170(70+100) m2 | 1 36.00 36
R Et=40cm
FERREEEE)-2  [t590(60+30+100+400) m2 | 10 | 2600.29 2600
R Et=45¢m
THREEE)-3  [t640(60+30+100+450) m2 | 1 410.54 411
REDOH
EIRGHEGR)-4  |t90(60+30) m2 | 1 974.03 974
R EL
T &g FKEBIFERSY 88 |£320(70+100+150) m2 | 1 778.99 779
g EKREBFASTHER | m | 1 699.42 699
BEgZE AT |HEFaE)-1 |[0120 X600, EELY m | 1 299.09 299
EZAGE)-2  |0120 X600 m | 1 74.90 75
CONZELRE
hkEAE) 0120 x 600 m | 1 7.00 7
SEERA-1 180/205 x 250 x 600 m | 1 357.60 358
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IR4: (B #RESESAEERISE(ZE0D2)

1-1 HELER [#E#EHR])
BEE WE=E— B %
I$Eﬁ T E E le ﬂﬂ E“ ﬁ *& & | ¥y | SR s = = =] %5( b
(LEVEL1) | (LEVEL2) | (LEVEL3) (LEVELA4) (LEVELS5) B B | AR RERE| . | AR
B &= &200~0
HHERA-2 180/205 x 250 X 600 m | 1 9.60 10
CONZEELHE
SEERZRG-3 150/170 X 200 X 600 m | 1 827.18 827
CONZELRE
HEHEZRA-4 150/190 x 200 x 600 & - 5546 | EHAR| 1 400 4
RE#RT [=F ) B wis0 m | 1 2294.26 2294
BiR W450 m | 1 3.50 4
B Eg R —9 B 1 5.00 5
B# BErEY—7 AT 1 2.00 2
W15042 8 . L=7.90m
BiR EHERmM m | 1 15.80 16
W15042 % L=7.90m
Bk AT K m | 1 7.90 8
W15042 8 . L=10.60m
[=F EiEEHT K m | 1 10.60 11
W3.0m 3F%
FEERT a9 )—BEER [130/300 & 1 1.00 1
REDOH
BEEEEHEM|FFE T 0vIER)-2 [t90(60+30) m2 | 1 558 6
+—exmpeazeon |{EEL T KIEY /J\;Ejtg m3 | 10 28 30
HBREL INRE m3 | 10 23 20
MEAET rEtE H4500 |1 2 2
FEWNET FREWNZON)  |W1050 X D700 2|1 2 2
ANVFT-TILI | EHYRF W1500 X D435 Hz |1 6 6
BRLRVF W1500 x D435 Hz |1 2 2
BT —T )L - R F|W3195-2760 2|1 3 3
Baeun W2080 x D1300 2|1 2 2
-exmuawrores |{E %il fg;ﬁ L) /J\;Ejtg m3 10 29 30
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IR4: (B #RESESAEERISE(ZE0D2)

1-1 BERER [R#EHK]
EE&E T =R

e | devern | devery | dverh VD i | b\ mamm| L | m o=
BRL INEE m3 | 10 24 20
YAUMRT [BAEERNY A [WI1390 XH1750 - 1 1
B W772 x H1750 |1 3 3
E&HYA(K)  [W725xH3500 |1 1 1
E&H20N)  [W291 xH1800 |1 3 3
FEY A1 H3000 (1 1 1
ZSREETEISY A2 |W300 X H1500 21 1 1
BIEEELEIBH A2 |W300 X H1500 |1 1 1
EEEREHT |[EELT REEY NGRS m3 | 10 11 10
BERL NGRS m3 | 10 9 10
BHibHT  |EiEnH-1 LRt | 1 4 4
BHikH-2 £, 5w 2|1 1 1
HibH-3 AR 1 12 12
BAX 1L —f |1 108 108
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M E K x
T/ B T
(LEVEL2)
# Al M A B O#® = e po =
(LEVEL3) (LEVEL4) (LEVELS5) LS i) & B =
ERETEEFRKY
fEEIT YR El A—Tohvk 3,483.00 m3 | 3,483.00
ERIEEFRKIY
BtT Bt 4m=W 3,161.00 m3 | 3,161.00
EEERI |EEER gt.1:20 (150.61+40.22+21.57)%1.118 m2 237.46
EEER Lt 1:20 (20.42+6.89+98.06)%1.118 m2 140.16
BERELET |t ERBRMHE HE 1.0 =] 1.00
EBEEREL
TENE BEEET 27.090 m3 |27.09
HEREL
W T m3 [0.00
BERL
FEKERIET 49.971 m3 |49.97
EBEERL
RKEEKERIET 1061.664 m3 |1,061.66
HEREL
BEKEEKERET 344.806 m3 [344.81
BERL
BERRET 403.295 m3 |403.30
HREL
ERLIBEET 182.996 m3 |183.00
HEREL
Y—ERXEEREHET 24.297 m3 |24.30
BERL
BEEEREHET 9.461 m3 |9.46
Btas 890.580 m3 |890.58
=1 m3 | 2,994.17
BRITABT |RKRIERLS Brith & AL 3483.000-3161.000/0.9 m3 [-29.22
BEEET 13.100 m3 |13.10
#EKERIET 0.000 m3 0.00
MKHEKER BT 537.696 m3 [537.70
SBKHEKERIET 104.605 m3 |104.61
RiEELY
SEKHEKERET . BT+ E (0.210 m3 0.21
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M E K x
TfE - B R T
(LEVEL2)
# Al M A B O#® = i34 J =
(LEVEL3) (LEVEL4) (LEVELS5) LIRS By #HE =
ERERETL 21.364 m3 |21.36
ERLIBEET 95.259 m3 |95.26
H—ERMEEREHRL 4.952 m3 |4.95
EEBREHET 1.302 m3 [1.30
EEHERLY
HEREL 141.311 m3 |141.31
&E&t m3 890.58
SR SR EBERL - BKIE#HLs |2881.170 m3 |2,881.17
(125.17+2600.29)%0.4+(20.41+1335.77+4
BRERER B 10.54)40.45 m3 |1,885.21
&E&t m3 | 4,766.38
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E & it %
T RREET
(LEVEL2)
deverd) | deverd D kst W) mE LIS
EHHERLY
RIBTT (B 26.54 m3 26.54
EIH= 26.54/0.9 29.49
BAZLIH=E 26.54/0.9%1.2 m3 35.39
EHEHERLY
IN—THERR 1600.71 kg | 1,600.71|14%20kg400
EEHERLY
S HERR 398.14 ke 398.14|14%15kg408
EHHERLY
BELT 1061.70 ¢ | 1,061.70|14%5kg208
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B K HZ
I#E:EELT
(LEVEL2)
(EVEEI:]S) (IﬁgVEﬂ) (EVELH;) BE By %8 =
(150.61+40.22+21.57+20.42+6.89+98.06)x1.118| m2 377.63

EET EFmet
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E & it %
TR PREET
(LEVEL2)
deverd) | deverd D Lk W) mE LIS
EELTHHRSY
FEXT  |KIEY INRAR 40.19 m3 40.19
FELTEHRLY
HERL INRIE 27.09 m3 27.09
L=19.35m
HET INEYE F R HERE-1 |HA00~ 950 1 AT 1.00
L=12.50m
INEVEE S KR -2 |H400~ 790 1 AT 1.00
L=12.15m
INEYE HH HEEE-3 |H400~700 1 T 1.00
L.=24.40m
INEYE R EEE-4 |H400~720 1 AT 1.00
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M E KX
TR -#EmHEL
(LEVEL2)
(EVEE']!) (EEVEﬂ) (EEVEFS) Lo Rt B8 B=
REMBUELT | S ARRER Co,t=50 603.8 m2 603.80
2o —MEEMEUEL |8 1.79 m3 1.79
2 o —MEEIEREL (5 19.198 m3 19.20
AEERHET UG AIERE HEEROLYUER), E8EL|54.0+53.9 m 107.90|~>5y—twigmmELiTat L
SEkpEE 0400 x H760 1+1 ;A 2.00|2>5y—rmiEmmELZTEH E
TB-1#E H550 56.8+56.7 m 113.50
T8B-24E H510 31.9 m 31.90
mERE H600 17.9 m 17.90 |2 su—rmigmmaLiccat £
EWLET (RERLS L) —R(EERR) 30.19+1.79 m3 31.98
BEWAL 5 aAV) - RER) 19.198 m3 19.20
SRIT
BEWAL 5 AV - REH) 4766.38 X 1% m3 47.66
BOEHRAL 5 BT 0.951 t 0.95
EERA S Bl 0.150%3.072 m 0.46
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SHAEEREG R | B EUERL | s ERL
M| Al HOE BH%s |BEAI| HE |HEAL| F|AFCO | F|{ARCO |wemamno $ELT
2.35t/m3[2.35t/m3| 2.5t/m3 [1.13t/m3| {&ZE
m3 m3 m3 t
R AR R As 0.050 m3 603.8 | m2 | 30.190
. A Col 0016 3 1,726
UM RIE B e 0% ™ 1079 | m
BEfCotR 0.134 m3 14.459
FFHColR 0.032 3 0.064
kB E itk o0 | &
EHAColR 0.094 m3 0.188
#hCot 0.030 3 3.405
+E-1H% HEiCo%R M1 4135 | m
€®E<T 0.005 t 0.568
T8B-28 % £E<T 0.012 t 31.9 0.383
MERE HffColH 0.064 17.9 1.146
INEE 30.190 1.790 | 19.198 0.951
BE#EE (m3-t) 30.190m3| 1.790m3]19.198m3| 0.951t
(m3) 0.842m3
EE®W 70.947t| 4.207t| 47.995t
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HE E X
TR R T
(LEVEL2)
& oA | oA B B = oy =
(LEVEL3) (LEVEL4) (LEVELS5) BFHL i) & B =
1J—R Bl#t5 40 e 40.00
TERERT | EikiREE 22 x 1524 X 6096 40 % 1.524 X 6.096 m2 371.61
J—R EMmy 62+56+38+38+55 54 249.00
Bk IRERE - K |22 % 1524 X 6096 249 X 1.524 X 6.096 m2 | 2,313.29
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¥ = L
TR AR T
(LEVEL2)
b= | o 8 % FEX Bify) HE B E
(LEVEL3) (LEVEL4) (LEVELS5)
FARJ A (L=6~Tm)
EAREHT |EIT/NTY H:80 C:0.50 W:3.50 1 ¥ 1.00
ZHEEXE
ooy H:40 C:030 W:200 |3 x 3.00
ZHEEXE
FhIY H:40 C:030 W:2.00 7 x 7.00
ZHMBBXHEGRAM)
REDA H:40 C:021 W:1.20 |9 ¥ 9.00
ZHBEXEGRARM)
ShY H40 C:021 W:120 |8 & 8.00
ZHBEXEGRAM)
FoHhIT H:40 C:021 W:1.80 15 x 15.00
“HBEXEGRKRM)
FODITIEEE |H40 C021 w200 |3 x 3.00
ZHBEXEGRARM)
arsS H:40 C:021 W:150 8 x 8.00
“HBEXHEGRAM)
HR¥ H:40 C:021 W:1.50 7 x 7.00
“HBEXEGRKRM)
/% H:40 C:021 W:1.50 10 x 10.00
ZHBEXEGRARM)
aJdy H:40 C:021 W:150 9 x 9.00
ZHBEXEGRAM)
AT H:40 C:025 W- 10 ¥ 10.00
“HBEXEGRKRM)
2T/% H:40 C:0.25 W:1.20 7 x 7.00
ZHBEXEGRARM)
R H:40 C:0.15 W:1.20 12 ¥ 12.00
ZHBEXEGRAM)
A2taq47F H:40 C:0.18 W:1.20 10 N 10.00
“HBEXEGRKRM)
HhUs H:40 C:021 W:1.50 14 x 14.00
ZHBEXEGRARM)
RUNEAALFRY |H4A0 €021 W:1.20 8 N 8.00
ZHMBRBRXHEGRARM)
HYSLYRTAVIX(H:A40 €018 W:180 |4 x 4.00
“HBEXEGRKRM)
AVES H:4.0 C0.15 W:1.20 12 ¥ 12.00
ZHBEXEGRARM)
LYy /i H:40 C:0.15 W:1.00 4 . 4.00
ZHMBRBRXHEGRARM)
H LAY H:35 C:021 W:150 |4 ¥ 4.00
“HBEXEGRRM)
hAREET [YILARY H:25 C:0.12 W:1.00 69 X 69.00
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o E £ %
THRE:HEHRT
(LEVEL2)
# 7 mo 80 o® AERX Hfr| BE B =
(LEVELS3) (LEVEL4) (LEVELS5)
ZHBEXHEGRAM)
XY H:25 C:0.12 W:1.00 11 X 11.00
ZHBREXH GBRAM)
A =1 H:2.5 C:0.10 W-:0.70 46 V. 46.00
ZHBEREXHEGRAM)
HJ5 H:25 C:- W:0.60 47 X 47.00
ZHBEEXHEGRAM)
I5/% H:25 C:0.10 W:0.60 7 ¥ 7.00
ZHMBREXHE GBRAM)
FYNES H:25 C:0.12 W-:0.80 41 & 41.00
ZHMBEEXHEGRAM)
EF/ & H:25 C:- W:0.70 20 N 20.00
ZHBREXH GRAM)
hovs/ H:25 C:- W:0.70 12 ¥ 12.00
ZHBREXH GBRAM)
3979337 H:25 C:- W:0.60 6 N 6.00
ZHMBEREXHEGRAM)
/% H:25 C:- W:0.60 15 X 15.00
BAERHE
<z H:1.0 C:- W0.25 2 X 2.00
EREET |Zv/vyvs H05 C- W.0.25 58 % 58.00
H<X= HO05 C:— W- 46 % 46.00
RUEAA D H:05 C:- W:0.25 42 #%* 42.00
raYFF HO05 G- W- 23 % 23.00
{EREHEA 11.10%8+10.44%2+9.66%8 m2 |186.96
ESRYYY H:0.3 C:- W:0.30 186.96%4 #%* 748.00|4%k/m2
lJung H:03 G- W:0.20 186.96%2 % 374.00|2%/m2
{EREHEB 142.75+84.10 m2 |226.85
FaurTEo—f3-7v— [H:0.2 C:— W-12.00 226.85%1 % 227.00| 1#E/m2
ESRYYD H:03 C- W:0.30 226.85%2 % 454.00| 2%k /m?2
44k /i (62.94+7.62-
((0.57/2)"2%3.14%18+(0.113/2)"2%3.14%
IR EER T |21 H- REESZIHIL  207F1%:7.50 |1))1k44 8 | 2,902.00
BAEBET |ZRBE(FAR) |[ZHEBRXZH 264 & 264.00
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B % %
THRE:HEHRT
(LEVEL2)
# 7 mo 80 o® FHEK Bify g B =
(LEVEL3) (LEVEL4) (LEVELS5)
PARBRZHER 2 b, 2.00
BEVGREL (V) —Y—D)IL W2000 4+4 = 8.00
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4 - ot =5 T BH
i R - Hik s ue 4 BRE Et . p— pee #t .
H c W ol @ @ (m3) (m3) (kg) (kg) (2) (m3)
B
EITNTY 8.0/ 05358 = 1 0.19 11. 64 2.91 7.76 2.28
saxy 40/ 03)20] & 3 3 0. 30 18.27 4.57 12.18 2.28
FTHIY 40/ 03)20] & 7 7 0.71 42.63 10. 66 28.42 5.32
2L 40l 0.2 1.2] = 9 9 0.69 41.58 10. 40 21.72 3.96
YShY 40/ 02)1.2] & 8 8 0.62 36. 96 9.24 24.64 3.52
rYATT 40/ 02)1.8] & 15 15 1.16 69. 30 17.33 46. 20 6. 60
LB T FREHE 40/ 02)20] & 3 3 0.23 13.86 3.47 9.24 1.32
ars 40/ 02)1.5] & 8 8 0.62 36. 96 9.24 24. 64 3.52
sRE 40/ 02)1.5] & 7 7 0.54 32.34 8.09 21.56 3.08
I/% 4.0l 0.2 1.5] = 10 10 0.77 46.20 11.55 30.80 440
aJy 40/ 02)1.5] & 9 9 0.69 41.58 10. 40 21.72 3.96
AXLTF 40/ 03] - | & 10 10 0.94 60. 90 14.03 37.40 6.50
2I/% 40/ 03 )1.2] & 7 7 0.65 42.63 9.82 26.18 4.55
TE 40102 12| x 12 12 0.92 55.44 13.86 36.96 5.28
ABEaAAT 40/ 02)1.2] & 10 10 0.77 46. 20 11.55 30.80 4.40
HYS 40/ 02)1.5] & 14 14 1.08 64. 68 16.17 43.12 6.16
wYnRsLHL ARy [40]02)1.2] & 8 8 0.62 36. 96 9.24 24. 64 3.52
HYSLyRI+wH40]02]1.8] & 4 4 0.31 18.48 4.62 12.32 1.76
Ny % 40/02 |12 & 12 12 0.92 55.44 13. 86 36.96 5.28
LYY R 40]02]1.0] & 4 4 0.31 18. 48 4.62 12.32 1.76
HILAAY 350218 =& 4 4 0.31 18.48 4.62 12.32 1.76
INE 165 10| 154 0.00 13.35 809. 01 200. 21 533. 90 81.21
g
HILAAY 25|01 (1.0 & 69 69 2.55 153. 18 38.30 102.12 12.97
XY 2501 (1.0 % 11 11 0. 41 24. 42 6. 11 16. 28 2.07
A 25101 (07| & 46 46 1.70 102.12 25.53 68. 08 8.65
$55 251 - lo6| % 47 47 1.74 104.34 26.09 69. 56 8.84
IS/ % 25|01 (06| Kk 7 7 0.26 15.54 3.89 10.36 1.32
RL/ 2501 (08| & 4 41 1.52 91.02 22.76 60. 68 7.7
EF/ K 28] - [07]| & 20 20 0.74 44. 40 11.10 29. 60 3.76
HoLE/ 25| - (07| = 12 12 0. 44 26. 64 6. 66 17.76 2.26
Somiany 2.5 - [06| = 6 6 0.22 13.32 3.33 8.88 1.13
£/ % 2.5 - (06| = 15 15 0.56 33.30 8.33 22.20 2.82
723 1.0] - 03[ %k 2 1 0.03 2.04 0.51 1.36 0.11
SYNRYYY 05| - |03 # 58 0. 61 36.54 9.14 24.36 1.74
HTXE 0.5 - - & 46 0.48 28.98 7.25 19.32 1.38
rIYYY 0.5 - 103 % 42 0.44 26.46 6.62 17.64 1.26
RavFF 0.5| - - | #% 23 0.24 14. 49 3.62 9.66 0.69
3 0.3 - |03 #% | 748 - 0.00 0.00 0.00 -
el g 03] - ]102] % 374 - 0.00 0.00 0.00 -
FRYzrkg—Fg-zy— [0.2] - [12.0f # 227 1.25 74. 91 18.73 49.94 3.41
ESEYYY 03] - 103 ]| % 454 - 0.00 0.00 0.00 -
INE 2,122 o| 274 0.00 13.20 791.70 197.93 527. 80 60.10
ks
gxYay - [s#3]| 7.5 | 8 | 2,902
INE 2,902 0 0 0.00 0.00 0.00 0.00 0.00 0.00
&5t 0.00 26.54 1600. 71 398. 14 1061. 70 141, 31
b2

DAXRNEIAE (L=6~Tm)
QO=MREXHE
@ZHMBEXE GRAf)
@FRAAERHE
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#E K X
THE:fa7KRIE L
(LEVEL2)
(EVEEE) (EVEﬂ) (EVEFS) Lo Rt B8 B=
EELTHHRKY
FELT  |KEY INRE 49.971 m3 49.97
FELTEHRKY
BRL MR 49.971 m3 49.97
KEFEA T (ARESAAT-1 | Z1EK$2(50) 1 = 1.00
AESAHFT-2 |ZiE/K$2(25) 1 = 1.00
AESAHFT-3 |Z1E/k$2(50) 1 = 1.00
ALKt
A—A—RyR-1 |50 FRPEERIK sEEkEIE |1 & 1.00
ALKk
A—B—RyH -2 (40 FRPE! 1 & 1.00
ALk
A—BZ—HRyHX-3 (25 FRPE 1 & 1.00
Ry o R
1E7K#2-1 50 1 {& 1.00
Ry z K
1EsK#g-2 30 1 E 1.00
Ry R
1E7k#2-3 25 1 & 1.00
RyHR#
1Ek#e-4 20 T+H1+1+1+1 & 5.00
@175 x H250
BMUKMEEE T |8k ITRIEOKIRR YO R SUSEL [1+1+1 = 3.00
BEERIIFLUE
HAKEWRT [#EKE-T PES0 4.89+15.18+2.25 m 22.32
EEERIIFLUE
#HKE-2 PE40 32.34 m 32.34
BEERIIFLUE
#HKE-3 PE30 8.04 m 8.04
BEERIIFLUE
HEKE-4 PE25 1.00+43.87+3.59 m 48.46
BEERUIFUUE  13082+0.15+40.79+0.15+0.38+0.15+7.00+
K E-5 PE20 0.15+36.4240.15 m | 125.16
PCav—k
IBERIZ 180 x 300 1+1+1+1+142 {& 7.00
1B 5% ER L70 THI+H1+1+1+ & 6.00
HERS—k W=150 5 J )L 22.32+32.34+8.04+48.46+125.16 m 236.32
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HE KX
THE : K EEARRRIE T
(LEVEL2)
(EVEEE) (EVEﬂ) (EVEFS) LS B BE =
FRAB(3-1~5), 011000
FEERT (EasHhE YIR—ILi5 5 Gk 5.00
FELTEHRKY
EEET  |KIEY MR 1599.361 m3 | 1,599.36
EELTEHELY
BRL INRE 1061.664 m3 | 1,061.66
U240 x 240
BT URZEiE-1 GE(T-2-Ns-#8) 51.86+50.09+52.70+30.80 m 185.45
U240 x 240
URRIiE-2 UENIES 34.2 m 34.20
U240 x 360
URIE-3 GE(T-2-NS-#8) 10.30 m 10.30
U300 x 300(17&)
URZ{EIE -4 CoZ-GE(T-6-NS-HIE) [42.60+51.70+51.70+29.50+45.43+55.10+33.40 [ m 309.43
U300 x 400(17&)
URRIiE-5 CoZ&-GE(T-6-NS-#1H) |50.80 m 50.80
B300-H300
BEAEHEN) [CoZE-GE(T-2-NS-#HH) [33.33 m 33.33
B300-H400
BERAEHIEQ) [CoZE-GE(T-2-NS-#iB) [19.76+50.29 m 70.05
B300-H300
BHEHAEAEG) |CoZE-GE(T-6-NS-#iH) |29.00+29.00+33.33+53.00 m 144.33
B300-H400
BHAEREG) [CoZE-GE(T-6-NS-#HE) [10.47+33.33 m 43.80
B300-H500
BEAERIEG) [CoZ=-GE(T-6-NS-#1H) [27.37 m 27.37
B300-H800
BHAERIEG) |CoZE-GE(T-6-NS-HIE)|6.84 m 6.84
B300-H900
BERAEHET) [CoZE-GE(T-6-NS-#HE) [13.16 m 13.16
B500-H1000
BEAERIE®B) [CoZ=-GE(T-6-NS-#HH) [45.50 m 45.50
B500-H1100
BEAEMAIEOQ) |CoZ-GE(T-6-NS-#HH) |4.50+37.92 m 42.42
B500-H1200
BB AEAIE0) |CoZ-GE(T-6-NS-41E) |12.08+21.41 m 33.49
B500-H1300
BEAERIEN1) [CoZ=-GE(T-6-NS-#HH) [22.61 m 22.61
B500-H1200
B AERAIE(12) |Cos - GE(T-25-NS-#8)(10.00 m 10.00
HET HEKE-1 CSB ¢ 350 4.50 m 450
AAKBELTIEHRLIVELR)
HeKE-2 VU 75 17.34 m 17.34
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2 & B =
THE : K EEARRRIE T
(LEVEL2)
(EVEEE) (EVEﬂ) (EVEFS) LS B mE L
AAKBELTIEHRLIVELER)
Pk E-3 VU ¢ 150 79.09 m 79.09
AAKELTIEHRLIVELR)
HeokE-4 VU ¢ 200 71.65 m 71.65
FKELTIEHRLIVELR)
HeKE-5 VU ¢ 250 105.32 m 105.32
AAKBELTIEHRLIVELR)
HoKE-6 VU ¢ 300 3.36 m 3.36
AAKELTIEHRLVELR)
HEKE-7 VU ¢ 350 103.83 m 103.83
1500 x H400
gokip- w0 T | B IK -1 GE(T-2-NS-#@8) 3 = 3.00
1500 x H500
k-2 GE(T-2-NsS-#8) 1 H 1.00
1500 x H600
FKki-3 GE(T-2-NS-#8) 5 H® 5.00
1500 x H700
£kit-4 GZ(T-2-NS-##8) 2 = 2.00
1500 x H800
EKkm-5 GE(T-2-Ns-#i8) 3 H 3.00
1500 x H1000
£EKkin-6 GE(T-2-Ns-#8) 1 X 1.00
1500 X H1100
k-7 GE(T-2-NS-##8) 2 = 2.00
1500 x H1400
EKkimt-8 GE(T-2-Ns-#8) 1 = 1.00
1500 x H500
k-9 GE(T-6-NS-#18) 1 H® 1.00
1500 x H600
£k#t-10 GZ(T-6-NS-#iH) 8 = 8.00
1500 x H700
& k#t-11 GE(T-6-NS-#8) 1 = 1.00
1500 x H800
FKi-12 GE(T-6-NS-#8) 4 X 4.00
1500 x H900
£k#t-13 GZ(T-6-NS-#iH) 1 = 1.00
1500 x H1000
EKkit-14 GE(T-6-NS-#8) 3 = 3.00
1500 x H1200
£ Ki-15 GE(T-6-NS-#18) 1 H® 1.00
1600 x H900
£k#t-16 GZ(T-2-NS-#@8) 1 = 1.00
1600 x H1100
& k#t-17 GE(T-2-NS-#8) 1 = 1.00
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Ll

i o®

THE: Uk BEKRERE T

(LEVEL2)
# Al M A B O#® = i34 J =
(LEVEL3) (LEVEL4) (LEVELS5) LS i) & B =
1600 x H900
£ kHi-18 GE(T-25-NS-#8) = 2.00
0700 x H1300
£kH-19 GE(T-6-NS-#1H) b S 1.00
0700 x H1500
&£ Kk#-20 GE(T-6-NS-#B) H 2.00
15w G 75-125, EHig = 4.00

34




35

60v "Eve|EyL "€6]0er 8EL eL1 282 €8°€0l 95°€ ZE SOl S9 I/ 60 6L PE L] HETFmEE
09ENA  00ENA  0GZNA Q0ZNA OSINA  GLNA
065 08¢

96¥ 1 000 0 [S¥¢ O [00G ¢ x 902 0 x Gi¥ O |47 0 |00 ¢ X 90¢ 0 X GI¥ O GIv 0 [90¢ O |Z0V O |veL v |61 0 |[¢0G |8GL v |61 0 |v0G |Gl € |0Gc O |000 O |0SZ O |0G ¢ |006 0 [000 O |006 O |07 € | GZNA | @4
675 1 000 0 [9¢€ O [0c€ € x 902 0 x Gi¥ O |92€ 0 |0cE € x 90¢ 0 x GI¥ 0 GIv 0 902 0 |Z01 0 |G 7 |61 0 |¢0G [8GL v |61 0 |¥0G |9¢ € [€90 0 |000 O |€90 0 |¢€ € |000 O [000 O 000 O |¢€ € | GZNA | @A
675 1 000 0 [G¢€ O [0t € x 90¢ 0 x Gi¥ O |9¢€ 0 |0¢E € x 90¢ 0 x GI¥ 0 GIv 0 |90 O |ZOL O |G¢L 7 |61 0 |¢0G |8GL ¥ |61 0 |¥0 G |9¢ € |90 0 |000 O |€90 0 |¢€ € |000 0 [000 O 000 0 |¢€ € | GZNA | @4
6120 [000 0 €200 [0¢G O x ¢60 0 x Gi¥ O €20 0 [0cG 0 X ¢60 0 x GI¥ O GIv 0 [¢600 |Z0L O [€lc v [0E0 [0S [8Ic v [0E0 |06 % |97 O [€90 0 |000 O |€90 0 [¢G O |000 O [000 O 000 O |¢G O | GZNA | €4
G2y € [0 0 [606 0 [0¢99 x 6800 x Giv O |64 I [0¢9 9 X GIEO x GI¥ 0 GIv 0 |GLE0 |L0L 0 [06€ ¥ [000 (LG ¥ |SOv ¥ [000 |OL v |l¢ L |€I€ 0 |02 O |€90 0 [¢9 9 |006 0 [006 O |000 0 |¢G L | GZNA | @4
0G. ¢ |918 0 |76 0 |098 ¥ x G9E€ O x 0GG 0 |06L | |0G8 ¥ = 19 0 x 0GG 0 0GG 0 [IZ9°0 |801 O |¥EL € |00 O |0G ¥ 028 € [000 |8I ¥ |00 G |OSL O [00G O |0G¢ O |98 ¥ |006 O [000 0 |006 O [GZ G | OSINA | &g
TLLC 9760 [¢86 0 [068 ¥ x GOE O x 0GG O [826 | [068 ¥ x LIL O x 0G50 0GG 0 LI 0 [801 0 |[€v9 € |00 O |0G ¥ |OSL € [000 |60 ¥ |¥0 G |OSL O [00G O |0G¢ O |68 ¥ |006 O [000 O |006 O |64 G |OSINA | @d
8LLC 0G| [096 | [006 ¥ x G9€ O x 960 I |v9% € |006 ¥ x G¥9 0 x 960 | 960 | |79 0 801 0 [098 € |00 0 |09 7 |L€6€ 000 |96 ¥ |90 G |OGL O |00G O |0G2 O |06 ¥ |006 O [000 O |006 0 |08°G | OSINA| @A
¥9€'G |98 | |6 ¢ |06 8 X 9IF 0 x 009 0 |190 ¥ |06L 8 x OLL 0 x 009 0 0090 [0ZZ 0 |801 0 |068 € |00 O |0G ¥ |[86¢€ [000 |OL ¥ |v6 8 |OSL O [00G O |0G¢ O |6 8 |006 O [000 0 |006 O 696 | 00¢NA | @4
Y0 ¢ |¥92 | |9€8°0 |0GE € x 9Iy O x 009 0 |00} ¢ |0GE € = GyO I x 009 O |K%[00% 0 [G¥0 I |801 O |[008 € [00 O |0G ¥ |9¥8 € [00 0 |20 G |v8 € |OGL O [00G O |0G¢ O |G€ € |6€¢ | |000 O |6€¢ | |66 ¥ | 00ZNA | @4
810 8E[061 ZI[6L€ I2[010 06 x OGO x 0GL O |69G €€[0I0 0§ x G68 0 x 0GL 0 0GL 0 96870 |01 O [Z¥9 € |00 O |vE ¥ |vSL € |00 0 |€9 ¥ |ZL 0G |00G O [00Z O [00€ O |10 0S |€9¢ | |000 0 |€9¢ I |Lz 1§ | OSENA | @V
09G 8E|062 B81|9€6 002G 6v x 0/G 0 x 960 | |9¢¢ 67|02G 67 x 06 0 X 960 | 960 | [L06 0 |OFL O |VSL € |00 0 |[€9 7 |€98°€ |00 O |85 % |O7 LG |009 0 |OOE O |00€ O |¢G 67 |9V ¢ |€9¢ | |k | |00 ¢G | OGENA | @BV
8€9°0 (000 0 [000 O [000 0 x OGO x OGZ O [000 O [000 0 x 668 0 x OGL 0 0GL 0 6680 |0I1 O [ev9 € |00 O |vE ¥ |OSL € [000 |€9 ¥ |98 0 |00% 0 [00E O [00E€ 0 [00 O |€91 ¢ |€kc © |0G6 O |G | | OGENA | @V
8090 (690 0 [¥GI O [09€ 0 x OLG O x 0GL O |€2z 0 |09€ 0 x 928 0 x 0GL 0 0GL 0 92870 |01 0 [€98°€ |00 O [8G ¢ |998°€ [00 0 |8G ¥ |18 0 |00G O [00E O [00Z O [9€ O |0G6 O |06 0 |000 O |I€ | | OSENA | &V
€811 [Ley O 1G0T [0Z9 T x [9F O x LvE I |8L¥ | |0L9 | x [G9 0 X [vE | IvE T [L[99°0 |60L 0 |7iv € |00 0 |30 ¥ |O¥v € |00 O |06 € |¢8 I |OGL O |00G O |0G2 O [L9 T |006 0 [000 O |006 0 |LG ¢ | OSeNA | @V
€811 (900 [1GO F [0Z9 & x [OV O x [ve I |BLF F [0[9 } X L6V 0 X [vE I [VEL [L6V 0 |601 0 |V € [Ic O [0l ¥ |00G€E [l¢c O |0V |¢8 T |OGL O |00G O |052 O L9 T |006 0 [000 O |006 O |LG ¢ | OSanA | @V
67L 1 (€810 [ILL O [OVG ¢ x L9V O x 049 O |¥46 0 |O¥G ¢ x 8GO x 0G9 0 0G9 0 [8LG 0 |601 0 [669 € |lc O |66 % |€L € [I20 |OF ¥ |69 ¢ |OGSL O [00G O [0G¢ O |[¥G ¢ |006 0 [000 0 |006 O |¥¥ € | 0GeNA | @V
TGEC |€88°0 [6G0 | [0¢6 ¢ x 81G O x OOL O |¢v6 I |0c6 ¢ x 046 O x QOL 0 00L 0 [096 0 |601 O |€¥¥ € |I¢ O |96 ¥ |G0G € |12 0 |0S ¥ |96 € |OGL O [00G O [0G¢ O [¢6 ¢ |981 I 0000 |98T I Ik ¥ | O0ENA | @v
GL1 61[107 OL|S8Z ¥[016 L& x L9V O x 960 I |989 ¥2|016 Lg x L08 O x 960 | 960 | [L080 601 0 (LS9 € |00 0 [0S ¥ |L08€E [00 0 |96 ¥ |0G 62 |00G O |0G¢ O |0GZ O |16 L¢ |980 ¢ |981 I 006 O |00 OF | 0SanA | @V
0€8 T1|0VE ¢ |OEL G |006 9F x L9 O x 0G9 0 |OLv L |006 91 x 089 0 x 0G9 0 0990 [089 0 |601 O [Z08°€ |00 O |9€ ¥ |L06 € [000 |67 ¥ |0z 8L |00G O |09 O [0G¢ O |06 9 |008 | |006 0 |006 O |OL 8F | 0G¢NA | GV
028G (88 | |Z0L ¥ |00V 8 = 9I7 0 x [vE | |G8G 9 |00F 8 x ¢85 0 X L¥E | IvE T [¢8G 0 801 0 (106 € |60 0 |67 7 |c96 € |60 0 |6V ¥ |OL 6 |00G0 |04 O |0G2 O |OF € |008 | [006 O |006 0 |0¢ OF | O00ZNA | @V
O1€ T1|¥59 ¢ |08E ¥ |0GG L} x 91y O x 009 0 |v€0 L |0GG L} x 899 0 x 009 0 009 0 [899 0 (801 0 [2¢56 € |00 O |6V ¥ |8vO ¥ [00 O |€9 ¥ |G8 8 |00G O [0GZ O [0G¢ O |GG ZF |008 I |006 0 |006 O |GE 6} | 00ZNA | @V
GI6 L (096 | 099 ¢ [00Z €F x G9€ 0 x 0GG O |0I9 ¥ |00Z €F x G€9 0 x 0GG 0 0GG 0 [G€90 [801 0 [8¥0 ¥ |00 O [€9 v |8€L ¥ [00 0 |19 ¥ |0G ¥I |00G O |04 O [0G¢ O |0z €F |008 | |006 0 |006 O |00 GF | OSINA | @V
GI6 L [[8BEC |18 G |00z €F x G9€ O = 960 I 899 L |00C €F x 0G0 x 960 | 960 | [0EG 0 801 O [8EL ¥ [000 (197 [82c ¥ |00 0 |09 % |0G ¥l |00G0 |0Gc O |0G2 O |OZ €F 008 | [006 O |006 0 |00 GI | OSINA | €V
622 1 12V 0 (8280 [OVL F x L9y O = 0S89 O |6V9 O |OVL | x ¥IG O x 0G9 0 069 0 |vZG 0 |601 0 [{G5 € [lc O |9z % |€8G€ [Ic0 |¢c v |68 kL |OGL O [00G O [0G¢ O |vZ I |006 0 [000 O |006 O |¥9 ¢ | 0G¢NA | @V
09€ 6 |II0 L |9¥0 8 |06L ¢& x [9¥ 0 x Lv€ | |LGO GI|06L ¢l x vi8 0 X L¥E | [VE T [¥I8°0 |601 0 |€8G € |00 0 |e¢ ¥ |LG9€ [000 |¥G ¥ |07 7L |00G 0 |0G¢ O |0G2 O |6L ¢l |€IF ¢ |006 0 |€Ic | |06 ¥I | 0SeNA | ®V
GIE T1|¢lc G |92 ¥ [OLG GF x [97 O x 049 O |8E6 6 |0 GF X ¢86 0 x 0G9 0 0G9 0 (2860 (601 O {59 € |00 0 |vG ¥ |LvL € [000 |19 ¥ |0G LI |00G O |04 O |0G¢ O |ZG G |9¢¥ ¢ |€kc | |€l¢ I |00 8F | 0G¢NA | BV
GIE T1[920 G |1V ¥ [0¢9 GI x L9y O x 0G9 O [Z9Z 6 |029 G} X ¢96 0 x 0G9 0 0G9 0 [296 0 |601 O |ZvZ € |00 O |19 % |L€8°€ [000 |89 ¥ |0G LI |00G O [0 O [0G¢ O [¢9 GI |LLE ¢ |€kc © |v91 I |00 8F | 0GeNA | @V
028G |96 € |88G € |0LBL > 9I7 0 x 960 | |€8€ L |08 L = 9980 x 960 | 960 | [998 0 801 0 [L€8 € |60 0 (89 7 [888°€ |60 0 |cL v |OL 6 |00G0 |04 O |0G2 O [L8 L |82 ¢ |vOL I |¥9F | |0Z OF | O00eNA | OV
TIETI|LIE 8 0698 [090 6F x 917 O = 960 I |90 L1090 61 x LI8 0 x 960 | 960 | [LI80 |80L 0 [888°€ |00 0 |¢L ¥ |¥66 € |00 O |85 % |¢9 Oz |00S 0 |0GC O |0G2 O |90 61 |¥90 ¢ [v9L I |006 0 |¢l ¢ | 00ZNA | ©W
GZ9 6 (907 ¢ [¢G¢ € [00Z 9F x GOE 0 x 0GG O [899 G |00z 9} x GE O x 0GG 0 0GG 0 G690 (801 O |¥66 € |00 0 [8G ¥ [c0L ¥ [00 0 [LG ¥ [0S LI [00G O [0GZ O [05Z O [0Z I I {00670 {006 0 [00 8L |OSINA| @V
G296 |66€ | [¢G¢ € 00 9F x GO0 x 0GG O [1G9 ¥ |00Z 9F X ¢¢G 0 x 06§ 0 0GG 0 (2260 |801 0 [20L ¥ [000 [ZG¥ [0I¢ ¥ [000 [LG¥ [0S LI [00G 0 [0Gc O |052 O [0Z 9F I {00670 {006 0 [00°8L |OSINA| OV
W) [ ) [ JEE | #d x o=9R x SgiS ] 125 [ #ol x <ZWH x SNEEE (W) T (wy T (W) [FHE [=aw S | S5 S [a5eas | SR | (W) LT | (%) LT (M)

THEEF |1 EeEH 7 EHEH NI [ | IiEmE [CONEan (W) §%T WIS B oW oo @ |FmEw B % # | TEk | BHE |e2sm

EEETFESNE




008°0 0¢9°0 |OLLO 00¥NA
0SL°0 |0L5°0 |OLL°O 0S€NA
00£°0 |81S°0 |60L°0 00€NA
0S9°0 |L9v 0 |601°0 052nA
009°0 |9l¥°0 |80L°0 00ZnA
0S50 |99¢°0 |80L°0 0SINA
00S°0 |vIE0 |LOL°O 001NA
GLy°0 |682°0 |L01°0 SLNA

[ cH IH EE]

ZH

NN

0e'0
000
[Ny
60°0
61°0
61°0
120
4Ny

B4

W R L
B O Y HETNE9
7- (F) HiEM & G
6 (F) H¥s Wk v
0- () FEEW k¢
(E)JFH\ANLCYLT
(R EFEHBANLCYL )
EE o

FHOTEBE &N

00z
00€ "
00€ "
00¢”
000"
000"
€90°
00§ "
00€ "
05z
05¢ "
0§¢ "
05z
05¢ "
0§¢ "

S O © o O O 0O O 8 O o S © o o

0S¢0

¥FBTTF

00V I B SR 51

(9-1)006 % 009CIHXNC 3 61

(2-1)0011 x 009 T # N3 vl

(2-1)006 % 0091 HNC35 €1

£ 21

FTE L

WAE 01

0001 14 Y' ¥ 6

0091443254 8

(§2-1)001 L X 00GCIMNCE L

(9-1)0011 x 00SC1 NS 9

(9-1)0001 x 00N G

(Z-1)00¢1 x 00SCINES ¥

(@-1)0011 x 00SC1 NS "€

(2-1)0001 x 00N 2
G2-9-2-D

006~009 X 006 1435 'L

(IR R) PSS

0000
056 0
€9¢°1
gle’l
0000
0000
0000
0000
0000
98171
681°1
oLl
6621
YA
8811

006 0

THTTOHE

00y I B SR 51
(9-1)006 x 009 I35 S1
(2-1)00L1L x 009 W v1
(2-1)006 x 009 CIHNC 3 €1

£ 21

FE

WAZ0l

0001 14k Y %% '6

009144724 8

(§2-1)001 1 x 00GOI M Ne3 L

(9-1)001 1 x 00§ LI 85 "9

(9-1) 0001 x 005 T4 35 6

(2-1) 0081 X 00 I35 't

(2-1)0011 x 00G LI H5 "€

(2-1) 0001 x 005 1435 '
(62-9-2-D

006~009 X 00SCIHNC 35 'L

(TF) A HF LS

EEETFESNE

36



9890 | LShC |- - evle |- - 00’} ¥ [9890 [LISvC |- - evle |- - (9-1)006H x 00G ] S-S
9lvc | 96¥8 | - - 21601 | - - 00F ¥ | 090 |vcle |- - 8elcT |- - (9-1)008H x 006 ] NS
¥9G0 | €967t |- - 35T |- - 00’} ¥ | 7950 €961 |- - Lese |- - (9-1)00LH x 000 =N
9G8'¢ | OvOEL | - - 96891 | - - 008 ¥ |¢8v0 [0E91 |- - ciie |- - (9-1)009H x 005 Ol-WE
890 |€LGT |- - oz |- - 00! ¥ [89v0 |elG1 |- - Ivoez |- - (9-1)00GH x 006 6-1NE
ZI0L [ 1298 |- - €€96 | - - 00’} F [¢01 1298 |- - €€96 |- - (2-1)00¥ IH x 0060 S-MNE
2901 | 8evel | - - 061Gl | - - 007 ¥ (1880 [vIL9 |- - GesL |- - (2-1)00 1} HH x 006 ] M=
96,0 | 8ELS | - - v68G | - - 00! ¥ | 960 [8E1G |- - v68G | - - (2-1)0001H x 006 - MWNE
90T [0l |- - LLv6 |- - 00'€ ¥ [ 6890 |OLve |- - 651e |- - (2-1)008H x 0050 S-MNE
0sz'L [Oery |- - 096 |- - 007 ¥ [ 6290 [olee |- - Gege |- - (2-1)00LH x 006 ] -WNE
G08C |0SL6 |- - GGS Tl | - - 00'G ¥ | 1960 |06l |- - Lee |- - (2-1)009H x 006 CWNE
GLEOD [9611 |- - T - 00’} ¥ [6/€0 [9611 |- - er |- - (2-1)00GH x 005 -MNE
66¢L |06y |- - 686G | - - 00'¢ F [eevo [oevl |- - €98l |- - (2-1)00vH x 006 =
881k | 0L0C |- - 8G2€ | - - 05¥ w [vezo [o09v0 |- - vel0 |- - RN EERTE
086 [08zee |- - osLee [ - - 0001 w /860 [8cece |- - giee |- - (G¢-1)00Z1H-0059 ChHE MG BHE
9/8'¢Z | 698'GS | - - SvL6L | - - 19'2¢ w logoL | Ive |- - Lese |- - (9-1)00€ L H-0059 (DEHMEEEE
76€°GE | 16228 | - - €8S LIl | - - 6Y€E | W | GGOL |9SvZ |- - Lee |- - (9-1)00¢ 1 H-0059 ONEEGZHE
99.0F [ 16L€6 | - - 95 Vel | - - ey w 1960 [tiee |- - zLre |- - (9-1)001 LH-00S9 (GES ]
LLOOV | 66668 | - - 9.90¢} | - - 056y w [ y680 |8L6'L |- - eL8e |- - (9-1)0001H-0059 ®F! Mz HE
66L°L | 06612 | - - 68162 | - - oreL | W [ ¥S0 | HOT |- - 8lee |- - (9-1)006H-00€9 (O EE
veve [LL69 |- - oLy ol [ - - ¥89 w Tz0s0 [ozot |- - zes |- - (9-1)008H-00¢9 [OESERAEE]
876 | 1e88l |- - 60182 | - - LELT w [eee0 [ 8890 |- - Leor |- - (9-1)00SH-00€9 (O HEZEHE
ZG0€L | 91€6¢2 | - - 69€°8E | - - 08¢y | W [86z0 |8.50 |- - 9180 |- - (9-1)00vH-00€9 (e
¥08'9¢ [ 89289 [ - - 2LOSOL | - - eevyl | w [geseo [evo |- - 8cL0 |- - (9-1)00€H-00¢8 (GES ]
Gze'le | 6GC LY | - - G8%'29 | - - GOOL | W |€0E0 |6850 |- - 2680 |- - (z-1)00vH-00€9 @EHEZHE
6658 | 868GL | - - 86742 | - - €€€E | W [ 8Gc0 |LL¥O |- - GeLo |- - (2-1)00€H-00€9 OS]
1G6'6 | 9g€lT | - - €6C 1€ | - - 080G | w [96L0 [Ocv0 |- - 9190 |- - (E1)00v x 00€N S-E 2N
88L°LL | 0L9O¥} | - - 85Y8IT | - - €606 | W |2€20 |vivO |- - 90£0 |- - (1)00€ x 00EN v-2E 2N
[v61 [ 169% |- - 99 |- - 0€01 w 16810 [9sv0 |- - G¥90 |- - 09¢ x 0¥ZN e-ElE AN
evce [evlL |- - L6eol [ - - 0z ve w 16600 [60c0 |- - v0€0 | - - Y&k €4 “0ve x 072N c-2liZn
G99%¢ | 2v909 | - - 10€68 | - - GyG8L | W |€EL0 |L¢€0 |- - 09v0 |- - 0¥Z x 0ven I-Elldin
TRV EN
BUEN [oms W > M [ BEN [e>nse ] g AT BRI = TV B -
F¥ EEES i ET] ERMEM TV TH REZES B A 1 % B B H-B T
ETTHS ETTTE

EIEET FE

37



969°L6C | ¥991907 | — - T9e 6651 | = Z CEE) 2 S
OEVEEl | EVLE6 | - - eLreee | - - 00t ¥ [|oevsel | svLE6 | - - eLreee | - - TTIEYE
ve€9 | vel8e | - - 8v0Gy | - - 007 | & | 185+ | 1896 |- - 29g L | - - (9-1)00SFH x 00200 WA

2G6¢C | eebLt |- - ¥800Z | - - 00C | & |9Lv'k | 9968 |- - e - (9-1)00EFH x 00L00 0N E

9LEL | vISL |- - 0668 |- - 001 | & |9c8r |viGL |- - 0568 | - - (9-1)00Z FH x 00L[] 61-ME
vGel | O¥9E |- - v68v | - - 002 | & | £290 |0e81 |- - e |- - (9-1)006H x 009] SI- M=

SILL | 6LEL |- - A E - 00T | & |crbt |6LbL |- - z€e8 | - - (¢-1)00} FH x 00901 LM =

1G60 | 0cvS |- - €9 |- - 001 | & | 1660 |0evG |- - e | - - (2-1)006H x 009C] 9I-MCE

8/80 | 099 |- - 8veL | - - 001 | ¥ | 8480 |0l99 |- - 8vGL | - - (9-1)00Z FH x 00601 SI-ME

961¢c | 89S} | - - VoL 9l | - - 00€ | & |¢cL0 |998% |- - 886G | - - (9-1)000FH x 0060 VWS

BB |oronsei WL > M [ BEA eS| e BLEAL [Pronsu WS> M [ BB [Heoms] s
T EH By ERMEM (Tl FH = (e 9 W g B H-& T
ETTEHY ETITOIH

ZIEETTEY

38




HE %R
THE - 15K EEAKER T
(LEVEL2)
(EVEEE) (EVEﬂ) (EVEFS) Lo Rt B8 B=
T THFRLY
EELT  |KRIEY INRE m3 449.41
EETTEFHERLY
BRL MR m3 344.81
BB KELTIEHELIVEER)
EET SEKE-1 VU ¢ 100 458 m 4.58
RIFABRKELIRHRLVEER)
BEKE-2 VU ¢ 150 71.74 m 71.74
RMBFEKELIRHRIVELER)
111.93 m 111.93
At m 183.67
RBBFEKELIRHRLVELER)
BKE-3 VU ¢ 200 46.5 m 46.50
miTE ¢ 150 Ml T i% 1 L 1.00
R#AB
Eoki-wi-n T |15 E #-1 150-200 E#F 3+3 G0 6.00
*i%B
BE#H-2 150-200 90 & 5% 1 G 1.00
*ifiB
1IBE#H-3 150-200 KEy 3 & 3.00
RAfA+B
BB 3241 —h 4 ¢ 500 X H1450 | 1+1 55z 2.00
RAKA+B
<R—I 05w R—IL 2+3 &R 5.00
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HE KX
THE:BEXREL
(LEVEL2)
(EVEEE) (EVEﬂ) (EVEFS) Lo B BE =
EEL THEHRKLY
E¥XT  |KEY INRIE 424.659 m3 424.66
XL TEFRELY

BEREL INRE 403.295 m3 403.30

BEARME T (/R R—iL-1 EX&AMEA H1-9 11.00 & 11.00
NURAR—IL-2 |EX4ER HI-9(E/L—414) |3.00 & 3.00
S3AtE H=5.3m 1.00 H® 1.00
e L-Ovh—#8 EEHERDA|1.00 i3] 1.00
HER-2 L-TTEE# RO (1.00 [ 1.00
SER-3 Es R8RS 1.00 [ 1.00
315A A2 BESHA 1.00 [ 1.00
EoT-1 BEE-1 11.00 & 11.00
B T-2 EE-2 2.00 X 2.00
E5T-3 FEE-5 2.00 H® 2.00
EST-4 ETE -1 10.00 & 10.00
E54T-5 ETE5-2 10.00 & 10.00

BORERBET By MuEHE =2aNeediid 1.00 [ 1.00
AE=h— 15W, bRy B 4.00 H 4.00

EREBRT |EHR-1 EM-IE 3.5sq 1707.13 m | 1707.13
ER-2 EM-IE 8sq 69.20 m 69.20
B3 EM-CE 3.5sq-2C 1083.07 m | 1,083.07
EiR-4 EM-CE 5.5sq-2C 335.14 m 335.14
EIR-5 EM-CE 8sq-2C 136.81 m 136.81
ER-6 EM-GE 38sq-2C 143.50 m 14350
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Bl
A

THE:EBRRMEL
(LEVEL2)
B ol @ A B % HE
(LEVEL3) (LEVEL4) (LEVELS)
EiR-7 EM-CET 14sq 56.81 56.81
e ] EM-CET 22sq 69.82 69.82
TR-9 EM-CET 100sq 34.60 34.60
BR-10 EM-AE 1.2-2GC 244.50 244.50
ERE-1 FEP30 1342.80 1,342.80
EIRE-2 FEP40 87.85 87.85
ERE-3 FEP50 86.82 86.82
ERE-4 FEP65 122.86 122.86
EIRE-S FEP100 34.60 34.60
1B —h W=150, 2{5#7 1283.26 1,283.26
HEith T =1 ED(ELB) 1.00 &R 1.00
EithTE-2 ED 1.00 &R 1.00
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